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Area of a Triangle 
 Name:__________________________                                                                                                                          Date:___________________ 

 

 
 

                                         

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 
 

 

 
  

 

 
 

 

 

   

 
 

 

 
 

 

 
 

 

 
 

 

 
 

 

 

 

 

 
 

 

 
 

 

 
 

 

 
 

 

 

To find the area of a triangle, multiply ½ x base x height. A= ½ (b x h)  
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Area of a triangle = 27 km2  
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To find the area of a triangle, multiply ½ x base x height. A= ½ (b x h)  
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Area of a triangle = 27 km2  
 

 
 
 

Area of a triangle = 18 mm2  
 

 
 
 

Area of a triangle = 63 cm2  
 

 
 
 

Area of a triangle = 90 m2  
 

 
 
 

Area of a triangle = 40 in2  
 

 
 
 

Area of a triangle = 75 yd2  
 

 
 
 

Area of a triangle = 99 mm2  
 

 
 
 

Area of a triangle = 45 km2  
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